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Solving Sequence

5#)—)4»7,10»11»12%3—»2ﬁ1—>6ﬁ8%>c5,677612
€4 C9  Ci0

€11 C3 C2 &1 Ce Cs

A knot diagrarrﬂ

Ideals for irreducible component#ﬂ)f Xpar

It = (—u” +2u® — 5u° + 6u* — 6u® + 4u? +b—u — 1,

10— 40 + 13u® — 2607 + 4208 — 50u° + 45u* — 28u® + 9u® + 2a + 4u — 3,

M 400 4 130 — 28u® + 48u” — 64uS + 67u® — 52ut + 29u> — 6u? — 3u + 2)

I = (u" +3u® +2u +b—u—1, u® 4 4u” +ub + 50’ + 3u* +u® + 2u® +a, u'® + 5u® + 8u® 4 3u —u? +1)

u
u

* 2 irreducible components of dim¢ = 0, with total 21 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
I = (—u"+2ub+---+b—1, u®—4u®+-.--+2a—3, u' —4u'®+- .- —3u+2)

(i) Arc colorings

o ()

ag =
1
ayq4 = u2
—%u10+2u9+~-~—2u+%
ar = \y” —2u8 +5u® — 6ut + 6u® —4du +u+1

—%7U10+2u9+---—%u2+%
ul® — 3u? + 9u® — 1607 + 24ub — 27ud + 22u* — 1303 + 3u? +2u — 1
( w0 -+ 4 2u— 1 >

3
a12 = \ 19 — 34 + 9u® — 16u” + 24u® — 27u® + 22u* — 13u® + 3u2 + 2u — 1

u?+1
a3 = 'LL4 + 2’LL2

—ut—u?+1
ag = U4 + 2u2

wl +5ud + 8ub +3ut —u? +1
a; = 9ul0 — 2447 4+ -+ - +10u — 8

ud +3ub +ut —2u2+1
ag = —u® — 4ub — 4yt

%u10—2u9+--~+u—%
ag = \ —y8 — 47 — 2u8 — 5ud 4+ 2ut — 6wl +4u? — 1
(ii) Obstruction class = —1

(iii) Cusp Shapes
= —2u'0 4+ 8u® — 26u® + 54u” — 88ub + 106u® — 94u* + 52u® — 10u? — 18u + 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1 ult + 546t + - +10929u — 576
C2,C5 w4+ 2ut0 49— 24
C3,C4,Cy u F4ut 3w —2
€6, C8, C10 wl =01
C12
Cc7,C11 ull—u10+~~-—13u—19




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
a1 ytt — 546y 4 - - 4 91631457y — 331776
2, Cs ytt + 54yt0 + ... 4+ 10929y — 576
€3, €45 Co y™ 10y -+ 33y — 4
C6, €8 C10 gt 330y — 1
C12
7, c1 ytt + 930 + ... 4+ 4083y — 361




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

1.025290 + 0.5734661
0.522820 + 0.9149441 14.2401 + 3.30691 6.51466 — 1.877361
—2.15532 — 0.075261

1.025290 — 0.5734661
0.522820 — 0.9149441 14.2401 — 3.30691 6.51466 + 1.877361
—2.15532 4 0.075261

—0.041636 + 1.3044501
0.517767 — 0.4585341 | —3.44187 — 1.254081 7.18214 4 5.239671
—0.109577 + 0.5295081

—0.041636 — 1.3044501
0.517767 + 0.4585341 | —3.44187 + 1.254081 7.18214 — 5.239671
—0.109577 — 0.5295081

= 0.564252 + 0.3735801
0.013693 — 0.7303771 | —1.87019 + 1.755381 8.10394 — 4.890651
0.832660 — 0.2201651

0.564252 — 0.3735801
= 0.013693 + 0.7303771 | —1.87019 — 1.755381 8.10394 + 4.890651
0.832660 + 0.2201651

0.21728 + 1.435521
—1.255990 — 0.4215341 | —7.66219 + 4.649241 5.42003 — 4.564331
1.114610 — 0.3763161

0.21728 — 1.435521
—1.255990 + 0.4215341 | —7.66219 — 4.649241 5.42003 4 4.564331
= 1.114610 + 0.3763161

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

w=0.40590 + 1.552781
a= 1.63733 + 1.454011 7.51792 4 8.562041 4.30767 — 3.053071
b= —2.10223 — 0.221681

uw=0.40590 — 1.552781
a= 1.63733 —1.454011 7.51792 — 8.562041 4.30767 + 3.053071
b= —2.10223 + 0.221681




Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = —0.342167
a= 0.628767
b= —0.160296

0.526767

18.9430




IL 1Y = (u"+3u® +2u® +b—u—1, u® 4 4u” + u® + 5u® + 3u* + u® + 202 +
a, u'® + 5u® + 8u% + 3ut — u? + 1)

(i) Arc colorings
1
as = \0
ag =
aq =

—u® —4u” — ub — 5u® — 3ut — ud — 202
—u" —3u® —2ud +u+1

w —ud +4u” — 4w +5u® —dut + P — 1

(
(
(
(
ai = ( —u? —4u” — 5u® — ut — ud — 2u? )
(
(
(
(
(

—u® —4ub —B5ut — 202 — 1
—ud —4u” — 5ud — ut — ud — 202

0
—u8—3u6—u4+2u2—1>
u8+3u6+u42u2+1>

ayp =

ag = —u® — 4ub — 44t

—u? —5u7 — 8u® — 3ud +u
ud —u” +4ub — 3w +dut — 20 + 2u+1

(ii) Obstruction class =1

(iii) Cusp Shapes = —4uf — 12u* — 8u? + 4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! (u® — 3u* + 4u® —u? —u+1)?
€2 (u® —ut 4+ 2u3 — u? 4 u — 1)?

C3,C4, Cy ul® 4+ 5u® + 8u® + 3ut —wu? +1
¢ (W +ut + 20 +u? +u+ 1)

C65 €8, C10 (u? +1)°

C12

e u'® — 2u” + 5u® + Tl + 10u® + 24u? + 30u® + 37u® + 40u + 29
i1 u'® + 20 + 5u® + Tu® — 100 + 24u* — 30u® + 37u? — 40u + 29




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 (v° —y* +8y° = 3y* + 3y — 1)°
c2,C5 (v +3y" +4y° +y* —y - 1)?
C3, €4, Co (y” + 5y +8y° + 3y —y +1)°
C6,C8; C10 (y + 1)10
C12
C7,C11 Y0 + 67 4 - + 546y + 841




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape
= 1.2177401
= —0.37029 — 1.588021 —5.69095 2.51890
= 1.000000 + 0.766826.1
= —1.2177401
= —0.37029 + 1.588021 —5.69095 2.51890

= 1.000000 — 0.7668261

= 0.549911 + 0.3099161
= 0.42897 — 1.546361
= 1.82238 — 0.339111

—3.61897 + 1.530581

3.48489 — 4.430651

= 0.549911 — 0.3099161
= 0.42897 4 1.546361
1.82238 + 0.339111

—3.61897 — 1.530581

3.48489 + 4.430651

= —0.549911 + 0.3099161
—0.686530 + 0.6689681
0.177625 — 0.3391101

—3.61897 — 1.530581

3.48489 + 4.430651

—0.549911 — 0.3099161
= —0.686530 — 0.6689681
= 0.177625 + 0.3391101

—3.61897 + 1.530581

3.48489 — 4.430651

= —0.21917 + 1.418781
= —0.092267 + 0.6419411
= —0.200152 — 0.4556971

—9.16243 — 4.400831

—0.74431 + 3.498591

= —0.21917 — 1.418781
= —0.092267 — 0.6419411
= —0.200152 + 0.4556971

—9.16243 + 4.400831

—0.74431 — 3.498591

u= 0.21917+ 1.418781
a = —2.27989 — 1.107351
b= 2.20015 — 0.455701

—9.16243 + 4.400831

—0.74431 — 3.498591

u= 0.21917 — 1.418781
a = —2.27989 + 1.107351
b= 2.20015 + 0.455701

—9.16243 — 4.400831

—0.74431 + 3.498591

10



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (u® = 3u* 4+ 4u® — u? —u+ 1)) (u* + 54u'® + - - + 10929u — 576)
€2 (u® —u* +2u® —u? +u—1)2)(u + 200 + - + 9u — 24)

€3, C4, Co (u'® 4 5u® 4 8ub + 3ut — u? 4+ 1) (u' + 400 4 - — 3u —2)
Cs (W +ut +2u® +u® +u+1D?) (' +2u'® + -+ 9u — 24)

Ce, €85 C10 ((u2+1)5)(u11—u10+-~-—|—u—1)

C12
cr (u'® — 2u? + 5u® + 7Tu® + 10u® + 24u* + 30u® + 37u? + 40u + 29)
S(ut = w4 = 13u - 19)

1 (u'® + 2u° 4 5u8 + Tu® — 10u® + 24u* — 30u® + 37u? — 40u + 29)

St = w0 4 — 130 — 19)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 (W° —y*+8y° —3y> +3y — 1)°
(y" —546y' + - -+ + 91631457y — 331776)

Ca, 5 ((° +3y* +4° +y° —y — 1)*)(y"" + 549" + - - - + 10929y — 576)
€3, €4, Co ((° +5y* + 8y +3y> —y +1)*)(y"" + 109" + -~ + 33y — 4)
Cg, C8, C10 ((y+1)10)<y11 +33910+"'_y_1>

C12
10 9 11 10 .
7, c11 (y~ +6y” 4+ 546y + 841)(y~ + 93y~ + -~ + 4083y — 361)

12



